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Historical Note

The Chinese method of representing the coefficients of the unknowns of several linear
equations by using rods on a calculating board naturally led to the discovery of simple method
of elimination. The arrangement of rods was precisely that of the numbers in a determinant.
The Chinese, therefore, early developed the idea of subtracting columns and rows as in
simplification of a determinant ‘Mikami, China, pp 30, 93.

Seki Kowa, the greatest of the Japanese Mathematicians of seventeenth century in his
work ‘Kai Fukudai no Ho’ in C.E. 1683 showed that he had the idea of determinants and
of their expansion. But he used this device only in eliminating a quantity from two equations
and not directly in the solution of a set of simultaneous linear equations. ‘7. Hayashi,
“The Fakudoi and Determinants in Japanese Mathematics,” in the proc. of the Tokyo
Math. Soc., V.

Vandermonde was the first to recognise determinants as independent functions. He may
be called the formal founder. Laplace (C.E. 1772), gave general method of expanding
a determinant in terms of its complementary minors. In C.E. 1773 Lagrange treated determinants
of the second and third orders and used them for purpose other than the solution of equations.
In C.E. 1801, Gauss used determinants in his theory of numbers.

The next great contributor was Jacques - Philippe - Marie Binet, (C.E. 1812) who stated
the theorem relating to the product of two matrices of m columns and n rows, which for the
special case of m = n reduces to the multiplication theorem.

Also on the same day, Cauchy (C.E. 1812) presented one on the same subject. He used
the word ‘determinant’ in its present sense. He gave the proof of multiplication theorem
more satisfactory than Binet’s.

The greatest contributor to the theory was Carl Gustav Jacob Jacobi, after this the word

determinant received its final acceptance.

&
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sl aslal 5 [Q8U £ 0 Wi sofl suyd da 1 2 ol suysd da 2 o, 2uel, diell dan el
ouyell gl A el Ul S uel wsH 3, [ x = 0 2w Hed dsll slefl sl aa wed
9. uusl iHla 5 o i [@Raddl 2uavt Ysdsra Ad elRaldl Haet s33 dl S0l AHAGHL U
Boledl QAR d AL Al oA, WU dl 2R el ougl O ds uadi U Gsladl ul. uell
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Gewszel 7 ¢ 9 [@8d f(x) = x| Add [@Q8% & 7

Bid @ 2udl £ A 1Ayl avil asla

[—x, x<0
Sx) =1

L x, x=0
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[Aseu 3 : o ¢ =1 dlx =1 201 £ < ol suogei dal. [l
: . § Y'
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Gegel 11 ¢ «fld >udd (@8 £ e odl d 2Add Sl 2al dds [Bigll 2kl

x+2, x<l1

f@=y 0 x=l

x—2, x=1
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SIS

Bid : Guarl Gelarl ¥4 x = 1 Rl diy ard@s v {2 £ ddd 9.

x =1 2000 f qofl ouyd as
lim f(x)= lm (x+2)=1+2=3
X = X =
2w x = 1 2000 £ el ouysi da
lim  fx)= lim (x-2)=1-2=-1
x=s1h x= 1
MH, x = 1 200 fL ol dar wuel oyl sl
el wuHd o, uEl, £ el vs o By x = 1 2l
udd 9. (AL 2udn 2ugld 5.540 2utd 9.
Bewswl 12

x+2, x<0

f(X)Z{

-x+2, x>0

s Afla wild cvald (@AY £ W2 Aldeadl 2l s3.

Y

r

h

(1,3)

> X

A

'/z -1

g7

(1,-1)

Bsa : ol 3 @8 £ 0 Rl dm ardls Budl w2 envid 9.

Quualvl vua [a8U-AL weal
D,UD, % D, ={x € R:x <0} 2
D,={x€R:x>0}
[Aseu 1 : % ¢ € D, dl,

lim f(x)= lim (x+2)=c+2=f(c)

- C X—=C
2w el [Q8% F21 D, UL Add 9.
[Asew 2 : %l ¢ € D, dl,

lim f(x)= lm (x+2)=——c+2=r()

X —%C X —»C

2 el £ DUl Add B,

5.5

25ld 5.6

2Rl [A8Y £ -l dearl wels [Blgyl Add glael £ Add O dx drdly. (@Al 2uavn
gl 5.64ui ealde ©. 2l AHlal 3 AR 1AV 510001 AHAGUL BlRAL HUBL U Bslad]
Ul 9, uid wUd Wl wdl [@8U rBd qel dar [Blgyl ¥ sd ul 6.

Belg2nl 13 ¢ {13 2uld [@RA £ Al Al 2l s

x, x=0

ool
101

x°, x<0

Bid : e © 5 [8U £ udls ardlas Bud w2 cavafid
9. [@Radl 2udu wugld 5730 »udd 8. sudu [Reiadi
M dsAold @dl B 5, fell UL ARdAl@S vl AR AHRsd

GuolHl [aeuled s31 ws.

-2:4)

-1,1)

4

2ugla 5.7
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QR 3, D, = {x € R:x <0},
D, = {0} &
D; = {x € R:x>0}
[Aseu 1 : DL S5 ua Bigdl f(x) = x2 9 2 3 dndil B wsld 5 Al f Udd B,
(il Gelgel 2.)
[Aseu 2 @ Dyl 515 uRl Bigy f(x) = x & 2 3 WAl AS wse 5 Al f Add . (i
Beleawl 6.)
[Aseu 3 @ uud x = 0 R0 Add [Rsdue s303. 0 2w [Q8add Hed £(0) = 0 8.
0 2w £ siofl ouyd aa

lim f(x)= lim x2=02=0
x=0 x=0

0 Lo f< wHell euy- qe

lim f(x)= lLm x=0
x—=0" x—=0"

2, lim  f(x) = 0 = £(0) i 20edl, £21 0 2 Add 9. el £l Ul UL
x— 0

ucls [Blgal Add O, e, £ udd [@QAd .
Gelgnl 14 ¢ Al A 5 UAs eguel (A8 Add ©.

B5a : e KA 3 A 1 LS 2R yals AvAL S, i =0, 1, 2, 3., 7 H2 g, € R 4
a, #0 dl px) = a, + ax +..+ ax" < oguel [A8Y s, 2w © 5 0 [A8Y udls ardlas
Aual w2 AvARd 9. 519 MBd ardlas qval ¢ e,

lim  p(x) = p(c)

X—C

-~

wlel, AL UHIEL p 2 ¢ 2RO Add . ¢d, ¢ 515 uBL dRd@s Aval gl p uds
s AvUL HIZ Add 9. Al p Add [EY 9.

Y
Belg2BL 15 f(x) = [x] gl viAd HedH 4
yalls [@8dAL d Rudeddil [Blgail ©,3) + —o
WL [x] 2 x &l Al 5 del ¥edl HédH ©0,2)T *—o0
IS [ Nyt 0, 1)+
yals e . (ol wcelHl x el s o -3,0) 10 2 20 @0
- - . < ——t—t X
A ddl 2RsAd yals) - 4,0) (-2,0) (-1,0) (:0 p O 60
Y N N N A
G5l @ wad gAML 5 f ucls Ardlas L2
AvaL He uvdfad 9. 2 [qHudL 2udvu *—0 1 (0,-3)
sl 5.8 4l saldae 9. »udvt uell 2d @l
v
9 3 (A% udls yals [Blg 2100 2udd 9. ¢d Y’

A B 5309 3 2 R A B, ugld 5.8
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[Aseu 1 @ 9RL 5 ¢ yals A S ddl ardlas Avar 8. wudvt vl 20 e 9 5 ¢l sl
Ay drdlds dvaipil e dd Hed [c] 9.

uld lim f(x) = Lm [x] = [c].
X —»C X —»C

adll, f(c) = [c] 2 2uel yals <l i ddl diiH AiRdl@s Avasil 42 [8U Add 9.
[Aseu 2 @ Rl 5 ¢ s yals 8. dl 2uudl 2l ydl el ardlas v - > 0 ol asla 3
¥l [c—r] =c—1, U2 [c + 7] = ¢ A

dael L Ul 28 lim f(x) = ¢ — 1, lim f(x) = c.

X —=C X —+C

SIS uR YRS ¢ HIZ 2L oda wHAL L Sl el [EA uds yails a0 udd 9.

WM dl [x]=n—-1,n—-1<x<n
5.2.1 Add (A8 olloaldd

ALAL HIRRIUL Al Aseudl AHwAl GUAL 2UULL dadl oflwdBiddl uel Al HHeuR
sdl. 2 % Ad gd ULl Add [ABaAL oflwoBia-dl il e s3Ag. SIS Bigyl [Afad Ald,
NI

S oyRizd A g [[8unL da uR R dlaEl, o dsAod © 5 2udl da Fal o wReuHiHl
w0l AL,

! !

AU 1 2 YR 3 f d g Uels didlds Al ¢ AU Add Sld ddl o dizalds [G4al €, al
(1) f+g A x=c A0 Add &.

ey

(2) f-g ¥ x=c AN Add 8.

"

(3) f. g A x=c AN ddd .

B
(4) 5] dx=c 2wan Aad 8. (22 g(c) #0).
g/

Aleadl = 2wl £+ g (A8 Add x = ¢ 200 AsIUG B, W B d x = ¢ =R
eid 9. ed,

lim (f+ @)(x) = lim [f(x) + g(x)] (f + g+l el uzel)
= lim f(x) + lim g(x) (aa- yny u:dl)
= f(co) + glo) (528 3 £ 2 g Add ©.)
= (f+ 2() (f + g -l cavur uzel)

wiEl, £+ g x = ¢ RO Add 9. ABIAlAL olslAl GOl L o WML slael alAsiHl
XU HIE 9Ll e ©.

A4 (1) Gurnl [sen (3) L [RRre Brau a3 o f 210 [8 Slu Hald 51 dirdlas vyl
AU fx)=A & dl (A-g)x) = A -glx) gt cuvaild @8a (A -g) ual Add 9. [agy 34
o A= —1 ad¥i, dl sl 5 % f Add [AHY Sld dl —F U8l Aydd [ABkd 9.
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(2) [asew (4)-u [alre Bl dils ol g 21 Add 2 LAd dedld] QAU €l 2 f(x) = A

~ '\ J A-._ N }'-' ~ ~ ~ ~ Y oy oY
Sld JE( x) = 20 gll dlvdldd [Q8y o Mo Add . (Goy 34 %l g LAdR Add [A88 Slu,

~ 1
cal s UBL Add AL,

Gul WHAIAL Gualdl 53 s Add [@A8UL Hadl asid. deudl al g5l sl uwl
Al MO 5 510 [A8% Add 9 5 Al AlAAL Gelewll 2l dld R 52 09
BElSBL 16 : U™ 52 5 UAS AHY [Q8Y Add 9.

B4 : ule 53 5 UAS AHY [8U £ A 6gugl p(x) A AR oLgUElL g(x) W2 f(x) = 2x
W Uy 6.

gx) A €l d Rl dum ardlds Avaipiidl oee A f Al ded 9. elguel [@8dl Add
slatel (Gelsl 14), £ ugl wHd 1 Al [Asew (4) usigl Add 9.
BelsRQL 17 : sine (A8 Aldcd 22

B5a @ L oAl W2 2l AL uRenHiHl Gudial s,

(x)
q(x)

Iim sinx=0dal lim cos x =1
x—0 x—=0

S S UG Al sUl, UG sin ddl cos [ABAAL 0 Y4l A5l vidv uell widl sl
gd, g2l 5 f(x) = sin x UASs ARAAS AvAl W2 AvAlRd 9. QIRL S ¢ 51 ardlas Aval 9.
x=c+ h dl el wwla ¥lal 5 x = ¢ dl A —> 0. 20l

lim f(x) = lim sinx
X—=C X—=C
= lim sin (¢ + h)
h—
= lim [sin c - cos h + cos ¢ - sin h]
h—0
= lim [sin c-cos h] + lim [cos ¢ - sin h]
h—0 h—0
=sinc-1+cosc-0
= sin ¢ = f(c)
wH, lm f(x) = f(c) 2 204l £ Add [Q8u O,
X—C

AlY 2L % YHIGL cosine [ARUAL AldrAl ALBLdL vl 20l wsi.
Belsel 18 = ABd s 5 @AY f(x) = fan x Add O,

sin x

Bia : [@BA f(x) = fan x = l PHAL HIZ cos x #0 ¢l ddl uds ardlas Aqval M2

coS X

aralid 8. 2l x #Q2n + DT, n € Z W2 ran AR cwraid 8. 20ud exal o ulid 54

5 (ARl sin AL cos Add B, Al fan Al AU Sl AL 6L Add (ARG @aso lael
Add 9.
AUICscl (A8 2 Add (AU adgs 2uue 9. Ue 53U 3 A f 24 g 2 aARdls [EAL S, dl
(fog)(x) = f(g(x))
Aol g L (AR, fel deasdl GualRl ld UR vAlRd dld. oL wHAL (%l AUl
2] Ael) AU [[Q8aAL Addd WReud 53 9.
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WHY 2 : f U g dldlds [Qal © A fog ¢ AN cyvulld . ¥ g A ¢ AN Add
Sld 21 2 f ¥ glc) AIAN Add SlA, dl fog U8 ¢ AN Add .
{lAAl GElSWUML 2L UHU-AL GuUloL B> ¢
Bels2il 19 @ Abid s 5 [@Q8U £(x) = sin (x2) Add [A8Y 9
B5a : ol 5 [ERY uds aRdl@s dval W2 vaRd 8, Fqﬁq 7 A [@BAL g(x) = sin x 2
h(x) = x% <l A4 Q8% goh a5 [l asid. ¢d, g v A Add (AR €landl uHd 2 wHel
dArdl w514 5 £ gl Add [Q8y .
Gelsl 20 : ABid A 5 f(x) = |1 —x + |x]| 2 udd [Q8d .
Bid : UAS AlRdlds dval x W2 [RBAY g A A 13 Sl cvaid S
gx) =1 —x+|x]| 2 h(x) = |x]|
dl (hog) (x) = h(g(x))
=h(l —x+[x])
=|T-x+[x||=/f()
Belgal 7 HL U8l Ay 5 A Add QA% O, el olguel QAL A Hels @A A0
A3uL [A8% g uBL Add O, U f 6 Add [@Q8A AAUF (@89 glanel £ uml Add 9.

ALY 5.1

1. Alid 52 % [@8% F(x) =5x =3, x =0, x =3 2 x = 5 220 Add .
2. (@8 f(x) = 2x% — 1« x = 3 U0 Al ASIAL
3. A wua [QEAAL Aldd USRI

(a) () =x—5 () f@)= Ts.x#S5
x? =25
(€ f()= 775 . x# =5 d  fe)=|x-5]
4. Abid A 3 wyals n w2 valid [EY £(x) = 7 Add B,
x, x<1
5. f@) = {5, x>1

gL AR [@8Y £ o x = 0 200 Add © 7 x = 1 200 d Add & ? x = 2
P d Add 7
A f Al Wl ArAd €, dl % Blgdlal £ 3Réudd Sl dal [Bbig il
[|x|+3 x<-3

_[2x+3, x<2 _ , 3<x<3
" f(x)_{2x—3’ x>2 B N6x+2, x23
IM x=0 [
N lx1’
8. f(x) 10 . 9. f(x) = \
, X =
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10.

12.

13.

14.

16.

17.

18.

19.

20.
21.

22.

23.

Ix+L x2=1 xs—i x<2
fx) =1, . fe) =1,
lx +1, x<l1 x“+1, x»2
JfO—L x<1
fx) = )
1 x° ., x=>1
) x+5, x<1
x =
x-=5, x=1
gl v [Q8% Add © 7
{2 it AR QAU £ M2 Alded AL
3, 0<x<1
fx)=14, 1<x<3
5, 3<x<10
2Xx, x<0
fx)=10  0<x<l1
4dx, x>1
-2, x<-1
fx)=142x, -l<x<l1
2, x>1
£00) ax+1, x<3
x =
bx+3, x=3
glRL AR [Q8% £ 20 x = 3 00 Add &1, dl g A b ARl uoik 2L,
X MxZ —2x), x<0
Al UL &t "2 f(x) =
4x +1, x>0
glRl v (8% x = 0 210 Add 8 7 x = 1 20 Alded He g s¢l asiy 7
Al 52 5 @A g(x) = x — [x] WS Yals W2 HAdd 9. 2l [x] 3 x Fedl 5
dgl Al Sld ddl wedd yals sald 8.
f(x) =x% —sinx + 5 gl cvad @Y x = T 220 qdd © 7

Al (B Alded 2L
(a) f(x) = sin x + cos x (b) f(x) = sin x — cos x
(c) f(x) = sin x - cos x
cosine, cosecant, secant =\ cotangent (8L Al Al
Sin x
J_’ x-(O A . ~ N e . NN N
fx)=1 «x gl AAAd [A8AL Ul £ 2AUdd Sl al dHiH (Gl Ml

lx-o-l, x=0
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24.

25.

x% sin %, x#0 N R
f(x) = gl2l AvdlAd (A8 Add [Q8d ¢ 7
0O , x=0
sinx—cosx, x=#0 N -
fx) = . gl AAd [Q8Ud Aldd ASIAL
_ . x-=

uall 264l 29 Hi euldd Bigsl @AY £ Add S dl ki Hed Al

26.

27.

28.

29.

30.

34.

k cos x T
T—2x x#; b
flx) = , X = — 24,
3 x== ?
’ 2
2
fx) = o, x 2, x =2 34,
3, x=2
[kx+1, x<m
fx) = ]cosx copg o XTT {014,
kx+1, x<5
J@) =43, 5 o5 X =520

a e b o<l Adl Hedl bl 5 %l

5 x<2
) = ax+b, 2<x<10
1 21 , x>10

gl vl [Q8% Add Slu.
AGd 52 5 (A8 f(x) = cos(x?) udd (A8 .
ABA 53 5 (A8 f(x) = | cos x| udd [a8u 9.

sin | x| [Q8AL Aldid ulae s

SIS

F@) =[x —|x + 1] g rvdlud (@80 ol 2AAdd €l 2al dds [Gigpil el

5.3 [asadlud

ool el oflvll odd flad ded e 2L 2wusl Ard@s @A [@sfadd <l wasl

AuYIAd s34 9

QA3 £ ardlds [@8A 9 A ¢ ddl wrad S8 Big . o saldd dad AR €, dl

f ¢ 2 [aslad  lim

flc+h)—f(c)
hs0 h

d c
2YdL a(f(x)) ’x=a gll g2lldly.

gl vdld s 1 ¢ 2wand [@slad ()
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J(x+h)— f(x)
h

A 2 dae vk S dl, f'(x) = lim
h—=0

gl2l AAld (@8R f [asld sda, Asadl f [@sfidn £1(x) 2aal %[f(x)] 2wl %l

~ d o D . = N
y=f(x) dl d_)yc wadl ' gl salad 9. [8a (sl sidadl W [dsaq (differentiation)

sl 8L £(x) Dl x A e [As/da (derivative) salddl M2 A3d f'(x) L Gualol s,
flaAl FuHl [Rsadl ollgolRidndl oozl yilid sal 8
(1) wxv)y=u £V
(2) (W) = uv + w' ([dolreg-il 5 owusial [aslfadHl [fux)

N

4 u'v—uy' .
) =— > ,vZ#0 (arousteAL [asfaddl [Rum)

A sies Seals walad (A% [aslfad sald & :

S8 5.3
f(x) x" sin x cos x tan x
f'(x) nxn-1 cos x —sin X sectx

N Y

el e [Asfd cuvulEd sdal, AR s Adasl sl ¢lal 5 ‘el dad wkaa gl

gd 2AeU(Asusl 2 U A 5 U -l Gl dl 9 Al 7 vl Wl qelfAd © v dedl g 4Bl

. c+h)— f(c) . N - - C oA -
lim £ 2 AQ 4 2R A S, dl 2l sély 5 f @ o swa [Asadly el oflw
h—0

N e ~ ~ N Y ~ . ~ ~ . C+h - C
goelil sélat dl, [Q8d f dearil s (Bl ¢ 2woi [Asa-dly ¢l dl o lim Jlerh - J(©)

h—0 h
N +h) -
oy fim LMD F(O
h—0" h
g, dl d [a 5] U2 (sl & du sdaid. od AldAHl [Aad dd ABigl a 24 b o

Al Al A S B [Q8Y £ 3 [0, b] wrl dxm Biga [Asaxla

sl xRl iy e dofl syl dal % Ady. d WUR dl 2dsd g A b ARLaHAL ol ouy
et el ouyel [Asfad o ©. 2 % JAd, B Q8% (0, b) w-L uds [Bigyt [Asasdla $id, dl d
(a, b)Hi [asa-dla 9 du s,

why 3 : ol [A84 f 2 Lig ¢ 2w [Asaddlu sy, dl d g ¢ a0 dad ug 6.
Allerdl = AU £ 3 ¢ 20 [Rsadld gl

lim f(-x) 7 f(C) :fv(c)

X-—>c X—C

s, x # ¢ WE F(x) - f(c) = ﬂ%;gﬂ.@_@

- fe)
X—C

lim [f(x) — f(¢)] = lim

—» C X—=C

(x—0)
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lim f(x) — lim f(c) = lim FACI NGO (x —c)

xX—c xX—c xX—c xX=c xX—c

fe)-0=0

lim 7(x) = 7(c)
X—C
212l, £ulx = ¢ RN Add 9,
Guuna 1 : Yds [Asa-ly (A4 aaa 6.
wudl <AiEla 3 Gueu [Aaid udlu (converse) dcd 4l

2Rl S Al ¢l 5 [@A8A f(x) = x| Add 9. «dlad el euyi qs [QRL

lim LOEW=FO _ p b _
h—0" h h—0"

. guell uyd da
lim SO+ - 7O _ lim ﬁ:l
h—0" h h—0" h

SO+ -FO o,

0 oL dloil dal el ougHl el AHIA A gl hlimo ;
—>

e il £l 0 200 [@Asadly Al £ 0 A aMladl wea uR [Asadla [@Ea Al
5.3.1 AdllFd [Q8ug ([QAslad

SIS

(R el

AU [QBUAL [Asad-dl voqA 50l UL 215 Gelewld]l A32d sTABL WA 5 248

F) = @2x + 1)3 4 [asad sd 9.

s wdl 2x + 13+ [Guel waus Guaael [@Bae 53 A saien uxd elgugly [afy

a5 dq [Asad sau-dl 9,
4 _d 3
A A Co )
_d o3 2
= a(Sx + 12x= + 6x + 1)

=24x2 + 24x + 6

= 6(2x + 1)?
gd, guil 5 g(x) = 2x + 1 24 h(x) = x> M2 f(x) = (hog) (x)
t=gx)=2x+1dl. 204, f(x)=h) =1

ViIH, % =6x + 12 =32x + 1)2.2 =3:2.2
_ dh | dt
dt  dx
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2L 6l del el 21 O 5 (2x + 1)100 au [yl [as(ia skl aid3l A0 oi-ld 0.
UG 2L vddlsd UHY 2430 12wl ealdl adla vl dd Aisadl Fan sl

o)

WHY 4 : (lsa-dl [QaH) @ @Rl 5 aalds wdd wzdlds [@Q4a f 4 6 @izdlds aau aralds

[Q4u u dal v o dalla [A49a ©. Hald f=vou. YRl 5t = u (x) 2 g—; del % of il
N ~df  dv o dt
Hlzdcd Sld, dl il

usl i uHAsdl Al 2udlel e, aisadr Famd 2wl [@Bgd s3I asid. Rl $
arlds ad-d (@8 £ 2o [ o, v 2 w o Add @8 9 wald

= (wou)ov. % t=v(x) 24 5 = u(7), dl

= ik d @ (2 [Qanul »uid udls [@Asfadad sRaa i)

s At QAL 1A [@8d W Aisnl FayAl Gudlel 530 as.

-~

Belsml 21 & f(x) = sinx? gl Adlld [@8uqd [aslad sl
Bia : 9l 5 wtd @AY o (B ADBsd @8 B, %l 1= u(x) =x2 2 v (1) = sint dl
f(x) = (vou) (x) = v (u (x)) = v (x?) = sin x?

t=u(x) = x2 ‘-Iés\L ga’z»&?s % = cos { ¥+ % = 2x Al 2kdc ©.

e, Alsn [Ram Yo,

df _ dv  dr _ )
o I cos t* 2x

A A vilan wRaee x oAl uedl yslal

LN % = cos t+ 2x = 2x + cos x°.

6ll2 ld : w8l <12yl Al uBar 530 waslal o

d
y = sinx? = d_ic; % (sin x2).

d
cos x* — (x%)

= 2x cos x*

Geldml 22 ¢ fan (2x + 3) <4 [Aslad sl
Bid @ Wl 5 f(x)=tan (2x + 3), u(x) = 2x + 3 24 v(t) = tan t
28l (vou)(x) = v(u(x)) = v(2x + 3) = tan 2x + 3) = f(x)

2, 6 (A8 A0l [@QAa .
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f=u(x)=2x+3 9. vl % = sec? A —g; = 2 R 4Ad 69,
ell, ALsAAL (U Yoo,

df dv dt 2

—— T e— ¢ e— \ _|_

! 7 dr 2 sec? (2x + 3)

Belgnl 23 ¢ sin (cos x?) 4 x L wua [Aslad sl
Bsa : [Q8y F(x) = sin (cos x2) 2 x <l [@HAL u, v 24 w AUl 9. £ (x) = (wovou) (x)
oul, u(x) = x2, v(f) = cos t A w(s) = sin s. &4, t = u(x) = x2 A 5 = v(f) = cos t @l

gull 5 UASs dAidlds x M2 % = cos s, % = —sin 1 A % = 2x Al iR 9. 2l

ALSOLAL AU [Run 3o

o8y L2 i = (cos s) - (=sin t) * (2x)

2

= 2x - sin x% + cos (cos x2)

ofleg 2l : wuuel <l wwel [kl wadla
y = sin (cos x?)
dy B d . 2 N 2 d 2
dx (sin (cos x<)) = cos (cos x*) e (cos x°)
: d
= 2\ (_ 2y % 2
cos (cos x*) (—sin x*) e (x<)

2

= —sin x% cos (cos x2) (2x)

2

= 2x sinx% cos (cos x%)

ALY 5.2

ys 14l 8 Wi 2ud [QAAAL x A ana [asf@q e e

1. sin(x2+5) 2. cos (sin x)
3. sin (ax + b) 4. sec (tan (\/; )
sin (ax + b)

cos (cx+d) 6. cos x3 sin® (x°)

7. 24cot (x2) 8. cos(\/;)

N

9. A A 5 f(x) =[x — 1|, x € R g2l curvld [@8u x = 1 2000 [asa-dla el

10. Bid 52 5 Hedd yais [,
Jx)=1[x]. 0 <x<3
x =1 24 x =2 200 [Asadlu .
5.3.2 92 [a8uqi [asladl
AR YL 20U y = £(x) WUl gel-gel QAL [Asad sl ¢dl. uid 2 #3304l 3
[A8UL EHal 2L USRAL % ¢ld. Geleel dls Al x 2y AL doelauidl sl [ s
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x—-y-m=0
x+sinxy—y=20
uaH [ZRUML, 2048y HIZ2 G3el A A 6l y = x — T 24 avil asla, ofle BRumi
y M2 B5d doaald asd weud -l
M x 6y -l deiy 2d] 2d usd 9dd €1y S dd y e Gsdl y = f(x) Au qvil usl,
dl gl 3808 5 y A x -l 2ure (explicit) (A4 a3y saldd €. o 2 AsA Al o dl gl
slgl Sy A x Al Hoiy wure 5 g (implicit) 8. 2 Guldeuayi 2uugl 2ual oe [Aqal-
[Aslaa daqa Qg vy

~ d NN
GEWSRR 24 :x —y — T = 0 W2 d—)yc allEil.

Bie @ s wdl y w2 Gl
y=x—T A4 daval-l .

- dy
Y| ~ =1.

oflg 3l e wdlsad A wba [Asan s,

d o dn
dx Y dx

d‘,lt ~ (¢

Ye 53 3, LI (@8 T xe e [Asad vidl A,

d d B
-0 =0

dy _ dx _
Q’M’E_dx_l'

b d NN
GEWBL 25 : y + sin y = cos x W2 d—)yc ollell.

c

Bsa : ala wlseed x A e [@sfaa s 2ald

1N

dy d . d

—_— + —_— = —_— \

e e (sin y) e (cos x)
s MuH gl

ﬂ + cos — = —sin x

dx Y dx

dy _  sinx

dx 1+ cosy

wél, y = 2n+ W
5.3.3 Bisiafidla ulaladad [asfaq

2udl il 5 Bsiafidla ulalafal add (@8 9, uig »iuel d wlbid 539l &, ¢d 2uue
il (8L [Asad we wisn [Rau-dl Gudlol s3le.
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Beldel 26 : f(x) = sinlx gl Awvald (@84 7 o [Asldd Rda 4ud 9 dx A
d QL.
Bia : R 5y =sinlx. 208l x =siny

olf ol x+l AWa [Asad s,

d
1=c0syd—z

dy 1 1

dx cos y  cos (sin ' x)
%uil % A cos y # 0 %{gli(i\sin_lx # =X, %
uld x # 1, 1 2ald x € (-1, 1) Sl dl % i asd 9.
2§l uRRUHA Al UHIBL 9 WL A AW JuHL HSRL we SA 5 x o€ (1, 1) we
sin (sin ! x) = x 24 208,
cos?y = 1 — sin?y = 1 — (sin (sin"'x))? = 1 — x2

f y

auil, uds y € [—%,%) HI2 cos y He 9.

e 202, cos y = |J1— 12

wH, x € (=1, 1) e,

dy 1 1

dx cosy 1 x2

Belsel 27 : f(x) = tan ' x Al [Asl@dd 2Rac 151 24 d L
Bie : R % y =tan ' x. 204, x = tan y
olf ol x el AWa [Asad s,

d
1= Seczy d—i

dy 1 B 1 1 1

dx  sec’y  l1+tan’y 1+ (fan (tan ' x))*  1+x
28l ousl-il Bustalfidla @A [@slad eluard e ds oudlel e siesul ousl-u
Bisialfidly ulaladdi-u [@sfid saidd © -

ses 5.4
f(x) cos ' x cot ' x sec ! x cosec ! x
' 1 -1 — 1 S S—
S') | X2 1+ x2 xlyx? -1 xlyx? -1
FA LA 1, 1) R (o0, -1) U (1, ©) | (=0, 1) U (1, o)
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AWlRY 5.3
dy
dx
1. 2x+3y=sinx 2.
3 ax + by? = cos y 4.
5. x2+xy+y%=100 6.
7 sin?y + cos xy = k 8. sin
2Xx
9. y=sin’!
e
NESEANE |
10. y =tan -3 | _ﬁ <x<$
2
11 = cos! - 0<x<1
Y 1+x2 )
1
12. y=sin][ 2], 0<x<l1
1+x
2x
13. y = cos™! 1<x<1
Y = cos [1+x2} X
14. y=sin! (2x 1—x2), —% <x<%

15. y = sec’! (ﬁ], 0<x< %
5.4 AldiSlL 2 agosla [l

Al YUl 2usl oguel [@8y, Ay [ady
2w Busialidla @Ay war [@la @R [aslad
(@9 ollvdl. 20 [Qeuami 2uudl Adl sl (ARl
glaisle (@8l v agomsly (@8 [da ollvilel (asin
3U 2l 2 oomuad w3l © 5 w0 (ool ww
Qe 928 ® d dusdl wlbBidl 210 yedsedl Haule
o1l €.

Asld 59U Yy = £(x) = x, ¥ = f(x) = ¥
y=A0 =2 uwd y = £(0) = x* AL wudn g
9. gl 5 % xedl dld 4f O dx as A4 Al
af 9. wewaon ds 2 dla-e Bl €l B, -l

2x + 3y =sin y

xy+y2=tanx+y

x + cos?y = 1

X3+ x3y + x2 + )3 =81

139

— il : (w2 1l 8 ui sl Al 3y xR a3 Aou veanl valid ©9.)

x
Wi
o A &ﬁn
-11
.1
Jo "
Y’
2usld 5.9
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L BH AU 5 x(x > Dl el MBud qmRiA dad y = £(o)d M no= 1,2, 3, 4 A

) N
¢

AU A nd B, B seuntl 53 AsA 5 £(x) = 17 AL Aol UASs U yals W2 v [ A
9. s Ad, Al el A W™ 5y = £(x) -l vzl aadl Budl W2 p-ua drs aul
gadl a9, Belewl dils f(x) = x10 e f(0) = x10 dlox o e 14l 2 Yl gl dn £
et 19l 210 oy £ Her 18l 215 wed af 8. M, x AL AW adRL He £ -l 9ls 7,
CERTRCLTERR S

Guasil 22141 Mt 2L 9 3, eiguel [@BAHl 9la 2asl aid U2 2uaRd 9. 21ald did addl
glg wel afl ©. i uldl acufas wa v 9 5 9 otguel [Aluefl war asuel aud siS [@QAu © 7
AL Aol $51RUL B A dial [@8Ud Belgw y = f(x) = 10% 6.

2l [ 53 ablal 5 2 [@AU 515 uel [8Y £(x) = X7, 7 A Yauls, sdl adil psuel
gle wH 9. Gelgal dls, suusl Abid 530 wslat 5 10% 2 £ (x) = x190 sl ay aeuell a8 .
el WEL Budl o1 5 x =103 He Al 5 £,,(10%) = (103)190 = 10300 ez £(10%) = 101900, 2ure
9 5 f(x) 4 U fi() U M sl ag) % AR 9. A A sq qesd 4l 3 uds x > 10°
WE F(X) > fio000). U artl Al 2uusl 2adlel Ale. 20 o Ad x <l HEl Budl wdie 53 2
asiRil wsid 3 (), £,(x) (n 4 yails) sl ag asudl gla wa 9.

wal 3 : aaisly [Q4u Yed o+l 2uaR b > 1 sla A4 [Qday = f(x) = b*.
y = 107 L suau 2usld 5.9 | 2uug .
Qs Adle 9 5 b Al A el ¥al 5 2, 3 2 4 W2 2L A gl wldisly [@fus]
sedls [agindizil A wwdl © -
(1) wdisla @QBu-dl wea ardlas vl e R .
(2) adisla [@Q8aAL [l dHH 8 ARdlds dva-L dL 9.
(3) [big (0, 1) dHal wdisly [@Bacdl >udv U ¢l O, (A 2 deaed Yetisad 8 5 Udls
aralas b > 1 =e p° = 1)

c NN

(4) adisla (@B énal aud (A8 €l ©. Hald 2uusl gu dollal susll ds B9l dx sudv

1N

BU dr§ 2oL Al €,
(5) x WL vor % <l Hed Hie aldisld @A 2udm 0 <l vot % Aws €l 9. ol woeldl,
6l ARHL BUAV x-2ial viAdEl © (U drl sARY Hadl [8).

10 28R aldisly [Q8u+ aimi-y aidisly [Q44 (common exponential function) $8di4.

uRlre A1d4, dleg 1140 2uugl oy 3 A 1+ & + % +.d 4L 2 21 3 a2 €l O

Ul dd e 43 gl . W ¥ e AR 5 A WG As vo ¥ WY alaisly [A4y
y=e* ﬁfflcﬂé\’:l'.

- Hla%[;lé aldisla (A4 (natural exponential function) $3quy.

W ooad @ue WA 5 wdisly [l wlfbu asd © wd dd e vidued Wy 9.

welged ¢ udldl caval w2 ARd 52 9.
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QAL 4 2 YRl 5 b > 1 Qalds dva &9. A b¥ = a dl b YR a U AYOAUST HEY x €.

b ARAWL g AL agaist log,a 24 ealdlal. 2udl, % 5° = a dl loga = x.

ALl L AUFAL S2dls AR BeleWll U A% Avilal, susl wella ¢la 5 23 = 8. agawisHl
uReudHl 2UuRl log,8 = 3 2x avil wla. o d 10* = 10000 24 log 10000 = 4 21 ML~
(et . aoll, 625 = 5% = 252 214 1og 625 = 4 Al log,;625 = 2 Ul A [Qau- .

dlgt a4 uRusq glesigdl [Quedl, 242 b > 1 a8 20ugl qgoIsd dHIq 4
dealds vazile] dedlds dvarl - [@Q4a dRls A asld. w0 [Qdud agowsly [Ady
(logarithamic function) s8I ¥ d

log, : R" > R
N B =xdx—>logyx =y A4 Avaldd sua.

o 9

Ao ANy dH N AR b = 10 €ld dl d
AIHI™ dYOLLS (common logarithm) AUl b =e dl
d- Hlé[(:lé AL AR5 (natural logarithm) 5&’?{!.

qefl auid Wslts agowsd in el eulam 8. w o, | 9 x

y = log, x
y = log,x

=
g

y =log,x

WSRAHL SUUEL e UHIRAL @8aLRLsA log x 4y saldla.
Huld nx A log x 2x avilal vusli 510 4 2, e
A 10 2uHRA sl AL 2udv ealdd 8.

a4
|

AR b > 1 Al qgaeisly [y ealadl Seals Y’
B »adisl 3 eafdd ® : wgld 5.10

(1) 20Ul =Bl dul 9=d dvapdl W2 agouasl aysl epvdl - il aglal, uel,
agowisly [ahu-l yea R 9.

(2) azowsly [A8u-l (AR ardlds Avaiii-l Y (p=¢)
ARl €9,

(3) [Big (1, 0) éHal agowsly (A8 »udv
U Sl

(4) ago@sly (389 Add aud [@8a 8. vwalq
ARl FH ol wmel dis @S wiH
AV BUR ds Al ©,

(5)  x+l grusdl sl uid 4 [BHd We log x <

Y'

Hey 28d 519wl ArRdlds Aval sdl it
° L o 2usld 5.11

oieldl s, oflon AL AlUL AWIHL AU

BRL p-via viqdd 9. (Uig drl sARY Had -le.)
(6) gl 5.1130 y = ¢ 2y = log x L Udv 2UUE O, 2 A8 RUE © 5 i asl

Ly = x Al ATRAHL HOdL visoileadl ulalion .
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agoinsly [A8udl Seals oadl A wlbia sa © -
(1) 2tz uRaddAl wiilBd [uy giel log,p A log,p-il ugdi 32dl asu. 4Rl 3
log,p = a, log,p = B > log,a = v.
2ell, a® = p, BP = p @A B = a.
Sl wlsred Her uan AHlsWHL Hsdl,
(bH* =p1% =p
drll Gualol oflogt AMLSWAHL S,

suaa AP = p = HY w4, (b>1)
29l B = oy v o = Y
_ logyp
log,p = log,a

(2) agornsly [A8usl ol 2wue R dsll dEusk uR adl »©u2 9.
QL 5 log,pg = o 2wl b* = pg.
% log,p = B 2 log,g = v dl bP =p uq pY = g.
el b% = pg = BB . pY = pP TV ua, (b>1)
a=p+y
b{%lclcl\ log,pq = log,p + log, q
i 2 [@AAW @UE A uTayRl ulRBud, 2R p = g AadA AR WA B, 2w
[Aseudl Guarl uRenda «la el avil asy :
log, p* = log,p + log, p = 2log, p
2§l AN AU uReuH, Ravieu He odlsl )
log, p" = nlog,p (n 318 4+ ’ié’llﬁé ¢.) Ay Wy 8.
VRV dl AL wRBUH SIS uBL ARdlds AvaL HIE U 9, U HUUSL d A saldlL wud
Al sl 2 % Ad wAs As]L wsd 3,

logb§ = log,x — log,y

BElSWL 28 @ UASs ARA[As AvAL x HIZ x = €02 F yu © ?

B5a : wan Yl 5 agogly [@AUAL uBAL M drdlds AvapdHlL oL 9. el Guasd
Als0L 8L dARdAs AvABL 5 0 M2 A AUl A, WL 5y = 98X of > 0 dl oA d:s
agolls ddi, log y = log(e'°¢ ¥) = log x - log e = log x “o. 2wl y = x. 2UH, o
Yot ARdlds Aval x HIZ ¥ x = elog ¥y o,

[asanl san oBiaHl wislas adisly AUl el oed 31 8 5, d [Asadddl wBa grl
otecdld ell. > o AL waayi suldd ©

wad 5 2 (1) e il x 7 e [AslAd & ¢ 2aiq % (&) = &

(2) log x il x =4 Ade (Aslaa i & sald %

1
(log x) = —
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(1) atdisla [A4a f(x) = ¥ Al [Aslad : 5 f(x) = &, dl
f(x+Ax) = f(x)

143

N

'(x) = lim
f ) Ax—0 Ax
Xt Ax e~
= lim ——M —
Ax =0 Ax
Ax
=¢¥ lim
Ax— 0 Ax
er -1
— X . — X lim =1
e-1=e EEVEE |
A4 xy =
VH, I (e =ce
(2) agomsly (8% f(x) = logx L [Asfad.
o8 f(x) = log x, dl
@) = lim log, (x+ Ax) —log, x
Ax—=0 Ax
[ .UC
B s
Ax =0 AX
Ax|
= lim 1 10ge[1_+7)
Ax—=0 X A
X
( log,(1+h)
=1 lim —————~ =1
X \h -0 h
d ~ 1
2UH, e log x =
Belgnl 29 & 1A wua [ x4 wda [@Asléd Hadl
(i) e* (i) sin (log x), x> 0  (iii) cos 1 (&) (iv) ecosx
Bid : (1) WA 3 y = e
aisn Rl Gualol sadi, & = o L (—x) = -~
" dx dx
(2) w2l 5 y = sin (log x).
. N N . 1
ALS [AUHAL GuldL SR, % = cos (log x) - % (log x) = cos(log )
(3) 4Rl 5 y = cos™! (e¥).
Als [MUuAL GualdL Sl & L. 4 (&) = — =&
dx 1—(e¥)r dx | — 2%
(4) Wl 5 y = ecos X,
ay

ALs0 [HUHAL BUAdL S,

dx

e Y (—sin x) = —(sin x) e X
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AARY 54

AL QA x4 wua [Qslda Ana e

1

- 2. esin_ X
sin x
3. 4. sin (tan~' ™)
5.  log(cos e) 6. &+ & 4ot X
7. e\/; , x>0 8. log (log x), x> 1
cos X
9. logx,x>0,x;ff&1 10. cos (logx + %), x>0

5.5 agasla [asaq
2 (Aol 8L ¥ @34y = (X)) = [u()]"® $d dal v usiRAl @8- [asfid
qoadl ellvils.
6l d§ e VUARAL dyAs Adl,
log y = v(x) log [u (x)]
Alsn [RumeAl Gualal 530 [Asdq s,

1
u(x)

1dy
y v(x)

= u'(x) +v'(x) « log [u (x)]
dy v(x) 1 [
— =y —= - u(x)+v'(x) - logu(x
. y[u(x) (x) +v'(x) - log[u(x)]

2L Dl GuUALL 5l Quid AL Hel 21 8 5, u(x) €9l 4 Sl d ¥3 B, vl
a-ll agowls cpvid ad 8. [Asaddl 20 wBud agomsly [@sad sélel i d <Akl
BELSRBIL glAL U 53¢ 8 :

(x 3)(x>+4)

Belsw 30 : > A oxd A [Qsad s
3x° +4x+5

B4 : WA % y = \/w
3x"+4x+5
oi o1y log ddl,
log y = [ log (x — 3) + log (2 + 4) —log (3x? + 4x + 5)]
gd, ol ol x A uua [Asadt s,

| 1 2x 6Xx +4

= — +
2 [(X3) 244 33X 4+4x+5

1 dy
Y dx
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dy y 1 2Xx 6x +4
AYY — = = + -
dx 2|3 ¥4 37 44x45
1 (x=3)(x* +4) 1, _2x 6x+4
C2\ 3P r4x s [T P a4 3P 44x4s

Beld28l 31 : @ 4 AN ARA@Ss dval 1, dl @ < x L Ae [Asad s
Bia : Ay = o', 0l
log y = x log a

olf ol x Al AWE [Asad s,

d
; d_ic} =log a
dy
E=yloga
% (a*) = a* log a

i :i x log ay — xlogai
ol Ad : e (a) e (e ) =e e (x log a)
=e'l0ga . oo g =" loga
Beldael 32 ¢ xS X x > 0+ x el AWE [Asad s
B5d : IR 3, y = xSiN X
ol o119 log ddl,

log y = sin x log x

L dy o d d .

- 2 = —_ + —_

Vv @ sin x —= (log x) + log x e (sin x)
1 dy ) 1

—_ = = —_— J’- o

v @ (sin x) o log x « cos x

dy _ l'sinx + cos x-lo xl

dx Y X s |

: sin x
= ySin x + cos x-log x
X

= xsinx =1 . gin x + xSMX . cos x - log x
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Gews@ 33 :

bY N '\d
By + W+ = ab €y, cud—y
X

Bid @ 2UA O 3, ) + ¥+ 1Y = gb

u=7y5v=x2d w=2x" ddi,

ut+tv+w=a

du
dx

b

dv aw

+ —=+ = =0

dx dx

gd, u =¥ «il 6id o1y log Adl,

logu=xlogy

du
dx

olf ol x Al AWE [Asad s,

du _ . d 4
: E =X dx (10gy)+10gy dx (X)
1
—x L. 2 1
xy d ogy
xdy,
_u[ydxﬂ-logy‘l

gd, v = x «l oid oLy log ddl,

log v =y log x

olf ol x+l AWE [Asad s,

% %=y%(logx)+logx%
=y i+logx-%
% :v[% + logx.%j‘
:xy[%a:-logx.%l
s, w = x¥ _ "

oid 61% log ddi, log w = x log x

olf ol x+l AWa [Asad s,

1

w

dv _d d
' Ic (log x) + log x e (x)

=x- L +logx-1

X

9Ll

Bl

(1)

2

(3
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%‘} =w (1 + log x)

=x*(1 + log x)

(1), (2), (3), (4) u=dl,

dy

dy

e {§E+logy]+xy {%Jflogx-a] + x*(1 +logx) =0

(x -y 1+ 5. logx)

(]

= _ + —yey -1
o x* (1 +logx)—y-x V¥ logy

dy _ [[y'logy+y
dx

x.y"

aY T x*(1 + log x)]]

"4+ xY . log x

AR 5.5

ysll 14l 11 1i 2aud [ x4 ane [Asf@qd ana :

(x—=1)(x-2)
1.  cos x - cos2x - cos 3x 2. (x—3)(x—4)(x—5)
3. (log x)cos ¥ 4. x¥ - 2sinx

L et
5. (x+3)2-(x+4)3-(x+5)4 6. (X+;} + X

7. (log x)* + xlog

9. xsin X 4 (sin x)cos X

8.  (sinx) +sin'x

2+

10, x¥cosx 4
X" —1

1

11.  (x cos x)* + (x sin x);

dy

sl 12 ol 15 M 2uua [Q8ay e . ENEVRE

12. ¥ +y*'=1
14. (cos xy = (cos y)y*

13. y* =¥

15. xy=ex =Y

-~

147

(4)

16. f(x) = (1 + ) (1 +x) (1 +xH A +x8) g cwvalid @ [Asfad bl d urel

£'(1) L.

17. (x2 = 5x + 8)(x + 7x + 9) < [Asld ~ A Hadl

(1) owusizeL [axel

(2) [dza 530 eiguely (aduel

(3) agoasla [asarel

9 A8 wAloL HHA © 7
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18. % u, v, w A x -l Q8% €l dl 6 Ad, uad yruald (s spusizdl Rus »iq
ol agoisly [Asdn gl odidl 3,

du dv
E(u-v-w)I—xv-eru-—-w+u-v.—

d dx dx

5.6 waa [atud (aslad

aell auid 6l Ad QAL A6l Al dl AR Gl B A AL dl R, UG U 6L AL A
SIS ol U AA-HA ALSN 13U WA YAH 6L A a2 Aol WU 52 9. 20 YRR
A8 sl Sl 5, dudl aAdl 26l ol Ad gL Asd wd O, Sl Add YA (parameter)
sdald, Aty e dd 6l A4 x Ay HE B x = (1), v = g(f) H 2WUd Sl1d dl d ¢ Addlol
uAd AHIsW sal.

2L @3unl [Q8as [aslad qaaaly, Asnd Ran waue,

dy _dy dx
dt  dx  dt
dy
dy _ _dr_ podx
WAl —= = o (osul o 0)
dt
o, D = £0 (5120 3 LI 0 2 2 = ) (wul f'(@0) # 0)
T dx SO dt dt

S ~ ~ d NN
Belg2Bl 34 : % x = a cos 0, y=asin® &, dl d_i LLELL.

G54 : 20d O 5, x=acos0,y=asind

dx . dy
15—~ sin 0, T~ acos 0
dy 0
dy o ds acos B
19l Ie  dx  —asind —cot O
dn

b ~ ~ d Y
Beldwl 35 : o x = ar?, y = 2at Sy, dl d—i T

B34 : wla B 5 x = ar y = 2at

dx _ N _

p7i 2at A+ 7 2a
4

dy di_ 2a

dx dax 2at
dt

-~

o ~ a d ~
BeldWL 36 : %l x = a(® + sin0), y = a(l — cos 0) S, dl d—i ICIN

5 - dx dy .
< _— = —_ =
CEICREETU P a(l + cos 0), 7 a(sin 0)
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dy )

dy Iy asin®

o dr  a(l+cosp) 3
db

g 3 Y ~ e NN d ~N N ~N °
@ 8| 2l el A A 3 ay oy Ad x A p o Al ALseUL Reuy dad

JAZUHL % Asd 59d 9.

Belswl 37 : o x3 +yd=a

Bid : % x = a cos’0, y = a sin®0 &, dl

2 2 2
x3 +y3 = (acos’0)? + (a sin’0)

V()

2 2
=a? (cos?0 + sin?0) = a?

2 2 A -
2w2l, x = a cos’0, y = a sinP0 W as x3 + )3 =43 Al uAq uHlsw 9.
~ dx 2 . ~ dy )
d, — —3a cos?0 sin® - = 3a sin*0 cosO
dy .9
dy ) 3a sin”® -cosf
wYl, — = = = - in@ # 0 0 %0
" dx ax 3a cos*0 - sin0 tand (sin ) o )
dp
= 32
x
2 2 2
2y 2d 1 ox3 - y3 =43
1 1
2.3 ,2, 34 _
3x T t3y =0
_1 1
& __x3 _ (2}
dx _1 X
y 3
WY 5.6

ot U 19l 10 Hi x 27 p A W50 WU dUA 1A, dl YAADL AU sAl AR
dy

— M.

dx

1. x=2af y=at* 2. x=acosB,y=0>bcosb
3. x=sint,y = cos 2t 4. x=4t,y=%

5. x=cos® — cos20, y=sin® — sin20



150 Bl

6. x=a(© —sin0),y=a(l + cos 0)

_ sin’t _ cos’t
7. x =

sV T T
A cos2t \cos2t

t
8. x=a(COSt*'10gfan5), y=asint

9. x=asecO,y=>btan0

10. x=a (cos© + 0sin0), y=a (sin® — 0 cos 0)

N - -1 -1 N ~ NN d -
. % x =g 1,y =g 1 S, dl albid s 3, d_)yc = Ty

5.7 [gdla seau-i [Aasl@a

Ay = f(x) €, dl % = 1'(x) (D

N . o ~ ~ A . N N d d

A f(x) [Asadla [@8a g, dl2uusl (1) < x [Qe $3 [Gsan 530 aslat. wuel, siell euy E(d_ic)]
N NN Y N N\ Y N d2 N c N
o, del pel x A AN [gdly [Aslad séad 21 d—zy ad sl f(x) -l lgdla (@aslad /()
X

AN e

g2l uel saldld, A y = f(x) dl dd D2y 244l y" ¥dl y, gl Ul sl el iHla 3

ay G sa-l [asfad ua 2L o Ad vl s3I as.

2

~ 3 ~ d y NN
Gelgml 38 : @ y = x3 + fan x dl —7 WAL
X

Bid @ 284 B 3y =x3 + fan x. 204,

% = 3x2 + secx

4>

d_z = % (3x% + sec?x)
x

=6x +2secx - sec x - tan x

= 6x + 2 sec3x - tan x

S ~ N d2
BEl8RW 39 : %l y = Asinx + Beosx, dl qdd 52U % d—zy +y=0.

X
N - od
Bsa @ el d_ic) = Acos x — Bsinx
. dly .
e Za(Acosx—Bsmx)

=-Asinx —Bcosx =—-p
2

d’y
AHl, — +y=0.
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2

N N N NN d d
BELSWL 40 : %l y = 3e2X + 23 Gy, dl ABd 52U 5 d—f - Sd_;yc +6y =0
X

B5d : UA B 3 y = 32X + 23,

siell, D~ o2 + o3 — 6(e> + &%)

" dx
d’y 2 3 2 3
W = 12e + 18e”* = 6(2e~* + 3e”¥)
d’y dy 2 3 2% 4 L3 2 3
el F _SE + 6y = 6(2e“* + 3e°¥) — 30(e”* + %) + 6(3e“* + 2¢°¥) =0
X
. s . d’ d
Beldml 41 : %l y = sin Iy Sl dl ABd 520 5 (1 — xz)—f 2 -
dx dx
B34 : y = sinIx e,
dy
dx 1-x?
dy
2 — =
1-x » 1
i{ 1-x2 d_y] =0
dx X
d’y dy 4 2
2 &YX Ay 4 -
1-x de dx dx ( X ) 0
d’y d 2X
1-x> - =5 — = =0
dx dx 5 1 52
2
y dy
_ 2 _ —
(1 —x°) 2 X 0

el (1 —x2) - 2y, +»,2(0 = 2x) = 0

(1 - x%)y, —xy; =0

[l 5.7

ugl 12l 10 Hi 2uud @Qaa we Gdla [@slaqa ana :

1. x2+3x+2 2. X

3. Xx.cosx 4. logx

5. x3logx 6. e*sin S5x
7. €% cos 3x 8. tan'x

151
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9. log(logx) 10.  sin (logx)
2

N\ N N N by d
11. % y=5cosx —3sinx &, dl AlAd 52U 5 d_z +y=0.
x

2

Y ~ ~ d NN ~
12. % y = cos ' x €, dl d—i HIol y el Ye d3U Hadl,
X
13. %l y = 3cos (log x) + 4 sin (log x) €™, dl U™ 5 % X2y, + xy, +y = 0.

d2y

14. %l y = Ae™ + Be™ ¢, dl albid 530 5 e

dy _
(m+n)dx + mny = 0.

N\ 7 77 \ N N N d2y
15. %y =500e™ + 600 ¢/ g1, dl AlGd $2U 5 el 49y.
X

2 2
6. Rd@+)=1du dubd s 3 =2 = (2
c Wt ) =18, d b sl s —5 = |
17. %y = (tan! x)? €, dl AllBid 31\13(x2+1)2y2+2x(x2+1)y]=2.
5.8 HRASHIM YHAU

NN

2L (o101 U8l ABIA sul AR sedUBAL 6 Yoed UHAAL [RE wudlel, dd dusi
Gliles daed wa s3lel
i\ S . ~ b 3 3 o
UHY 6 ¢ RAAd UNA < A f: [a, b] > R ¥ [a, b] YR Add A (a, b) 4R [Asa-la sla dal
dealds dvdl a A4 b 42 f(a) = f(b) S, dl 5185 ¢ € (a, b) ¥ f'(c) = 0.
2lglct 5.12 i 5.13 3l Aaddl wHaddl adlg A 52 dal seais [Alre [@sadly [@QAd-
v U 9.

Y

>X X'e %a " . ‘ > X
Y

LZ b

2usld 5.12 2usld 5.13

r

a @ b Azl [Blgplal dsel sl el Hadlst 52 UAS BUAVHL UL L
s Bigdl d 9y o 9. Acdel UHAHL VRUR dl vl % (A A s3d 9. 2du urHL S
wel Bigyt ds y = f(x) Al s 2l 3 WNR dl y = f(x) L d Biga [Asld o 8.

YHY 7 URASHIAL YN 91 f: [a, B] = R ¥ [a, b] 4R ddd 4 (a, b) 4R [Asa-ly SlA, dl

f(®) - f(a)

S83 c € (a, b) HE f'(c) =
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%l 5 HRsHIA UHY B Ad-Al WA [Ergd 34 Y

~
C

09, Adl, ¢d UL HASHIA UHUL o[y e "(b, £®)
AL (A8 = F(x) AL 2udu usld 5.14 4l >uud
9. 20Ul uedl % 7'(c) -l 2l a5 y =7(x) il (¢, £(¢)) S

; . N . (e.f(e)
AL001L U5 GL0L dZls 53 Asa ¢l ol woesiml &

weusHid yHd uMIel ldl ardlas @vil ¢ € (a, b)

WA 3 el A5 y = £(x) €l (¢, f(c)) WAL WS
(a, f(a)) 4 (b, f(b) A sdl ORsA AHIAR 2150 5.14
21y,
BEWL 42 1 g =2 A b =2 &4, dl Q8% y = x? + 2 W Add uHL AsRL

Bia : (@B p = x2 + 2, [-2, 2] U2 Add ¢4 (-2, 2) |l Rsadla 8. adl, £(-2) =F2) =6
A 2l () AL -2 A 2 ARAL HEdl AMLA O, Al UHA UM f(c) = 0 WA ddl
c € (<2,2) M4, f'(x) = 2x sldEl £'(c) = 0 Ul LA ¢ = 0 HoL. 20, ¢ = 0 H2, f'(c) = 0
wd ¢ =0 € (-2, 2).
Bels0L 43 @ [2, 4] U cvald [@8U £(x) = x2 W2 [2, 4] YR HRASHIA WHU ASIRAL

Bsa : @AY F(x) = x2, [2, 4] Hl Add 21 (2, 4)H Rsa-dld © da (2, 4) w2 f'(x) = 2x
QAIRd .

¢d, f(2) = 4 24 f(4) = 16

b) — _
el f(Z—Z:(a) _ 146724 .

RLSHIA UHY WML f'(c) = 6 A Adl drdlas Aqvdl ¢ € (2, 4) uadl A, uig
Fix) = 2x. 204l ¢ = 3. 2, ¢ =3 € (2, 4) a1 £(c) = 6.

AR 5.8

1. x € [4,2] u [@%% f(x) = x> + 2 — 8 e Ad- UHY AsIAL

2. AsiRiL 5 <Al (A8 wR Add uHd @oudl asin 5 AR 7 2 Gelgel uell dd Adsl
wHaHAlL wdlu [Qgl o s€l asa ?
) fe) =[xl x €[5, 9]
(i) f()=[x], x € [2,2]
(i) f(x)=x*-1,x € [l, 2]

3. % £ [-5, 5] > R [Asa-dld @84 €l A f'(x) s4l 4 gt Al oA dl ulBid
A 5 £(=5) = f(5).
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4. a

SIS

1 24 b =4 ad [@8% f(x) = x2 — 4x — 3 & [a, b] U HRLSHIL UHA ASIAL

5. a=1 24 b=3dd [Q84 f(x) = x3 — 5x2 — 3x W2 [a b] U HASHIA UHU AL

f'(c) =0 Ad ddl dHH ¢ € (1, 3) ML

6. BU Ul 2 ML U A0l [QHAL M2 MRLSHIA UHA USRI

yslel Gelgwl

Gelganl 44 : «{la-i @8 x Qo [asfaa aaa :

() Br+2+——— (i) %™ + 3cosx (iii) log, (log x)

2x% +4

! 1
63 : (i) y= Br+2+o——= =Cr + D7 + (2 + 4) ?

\2X7 + 4

UURL Al 5 2l [Q8U MM AlRdlds Qv x > %2 e AreyRd 9.

1

dy _ 1 -1 d () h 2 ezl d
- =30+ ‘5(3’”2”[2}(2’“ +4) C oy 4
1 _l 1 _i
=t T .- Yo7 4
_ 3 _ 2x
23x +2 3
3“ (2x% 1+ 4)2
dAMIH ARAlAS VAL x > ‘72 He U [asfad crvalBa ©.

(ii) y = eseczx + 3cos x

§0d y, [-1, 1] 4l dsm aidlds dvail Wz v 9.

dy sec2x 4 2 ( 1
— . — _l’_ —
¢ dx (sec™) 3{ 1—x2

Sesz

d (1 )
= .2 — + 3~
e secx —- (secx) L HJ

2
=2 sec x (sec x - tan x) e%“* + 3| >
1

—
I —_
=
L ORI

2 1
=2se02x-tanxesecx—3[ 2]
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@l 5 g [ABad [@slad (<1, 1) we o 4 8, 51 5 cos 'x 4 [asfad (-1, 1)
STERCSUTIE TS

log (log x .
(i) y = log, (log x) = % (R uRad--u [Ruudl)

x> 1 &l ddl ddd ardl@s Qv e 2 [@8y vaRd 9.

dy 1 d

A Tog7 dr (log (log x))
_ 1 1 d
~log7 logx * dx (log x)
1
~ xlog7log x

Belgel 45 ¢ «flAdl [Q8A x A wda [@Asad s

sin x PR
. 7] . .o 7] cese . 71 —
(i) cos7! (sin x) (ii) tan (—H o5 x] (iii) sin ( x]

1+ 4%
Bie ¢ (1) WA 3 f(x) = cos! (sin x). %@ 3 200a [[AU wAs Ard[@s dval WS AvaRid
9. 8L i [Q8uA

f(x) = cos™! (sin x)

= cos! ’Vcos %x)-l MM dvil sl _7“ < x < %
fx) =% —x
el, f'(x) = ~1

A Lo<x < Zodl ) =1 ad

. NN Sin X N ~ & . ~ ~ ~
(i) w2l %, f(x) = tan! {I—J %ol 5 wud (AU UL cos x # —1 gld ddl uds
+cos x

c =

ARA@Ss Aval W AR B, vald x A T Al 24404 ORI AL €ldl RS ULl il
[ yrolsnt s,

fx) = tan™! i )

1+ cos x )

[ . X X
| 2s1n (7) cos (7)

2

= tan~
2co0s %

= tcm’l tan (iﬂ S T <x<T
2/ 2

=N

M3 cosE uAdz Sl »ia A Deuil A g2 53 s WM, f1(x) = =
2 2
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. 2 o = N ~
(i) £ (x) = sin! [14_ 4x) (A8l wedl 55l sl 2wl —1 <

SIS

X+1

o S Sl Al dHIM

x Ml AO.
x+1 2)c+1

ed, At SHAL He Slaudl, ULl Adl x Al AB 5 %l o S L »ald,
oY 2 Y ~ SN 1 Y

uds x "2 25T 1 <1+ 4% 2ull v @il asla s 5, 2 < oF T2 ucls aldlas

X HIZ A 69,

w1l (389 UAls dArdlas Aval w2 valRid o,
2% = tan O ad 2 [@8ud 53 Quidl,

2x+1
= 7 _l

- 2X.2
STy %2

1

= sin~

2tan 0
1+ tan’o

= sin~! (sin 20)
=20 =2tan! (2%

1 d
el f'(x) =2. ——— . — (¥
0 =2 s Y
2
= - (2%) log 2
L (@) log
~ 2% llog2
B 1+4%

dy

BEIBRWL 46 : % f(x) = (sin X)X ¢, dl 0 < x < T HI P 91HL.

19,

Bsd : @AY y = (sin x)*" % 3 x € (0, T) S ddl UASs ARdls Aval W2 AR 9,

ol d:s log ddl,

log y = log (sin x)S"* = sin x log (sin x)

14 _d :
v dr e (sin x log (sin x))
_ . . 1 d .
cos x log sin x + sin x N x dr (sin x)
= cos x log sin x + cos x
= (1 + log sin x) cos x
dy .
— = -
% Y [(1 + log sin x) cos x]

= (1 + log sin x) (sin x)S"* cos x
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A b t'l'l N 1a ~ ~ dy Y
BELSBL 47 @ ol 4 ARAlAS AN g HZ, y = a | W x = (t+;) G, dl = 9l
B5e : ol 3 UASs ARAlS 1> 0 W2 y 2d x ol AnURd 9, e B 3
dy d l-l-l l-l—ld [ 1
_— = — t = [ t_l_— .
dr — dr {“ © t} log @
r+d 1
=a ! l_t_z . log a
~ dx ope-l d( 1
o« 1 Y P
w o A, < a[r+t) 7 | z}
; -1 ;
_ 1) [1 L]
=alt++ .
l l!’ tz
°z?1r¢il&LM&&L%%#O.MLHJ;&IHQ, (r> 0 Sludl)
d g 1]
@ a l-=|loga
dx ﬂ l\a71 ( 1]
d alt+- Jl1==
! ( ‘) -
l‘--l-l
a 'loga
- la—l
a[l+t)
r+1-1
a ' loga
i — (t>0,1t#1)
[r+7)
t
A8 s Q@AY u = F() L ol @AY v = g(x) A Awler [@Asld, Add % glal saldami
du
A B WL A 95 B, o, 2L )

dx
BelsRBL 48 : sin’x Al €% ¥ A qua [Aslaa el
Bia : WA 3 u(x) = sin*x e v(x) = €S ¥

du
I\ dl/l _ dx = N
2ALUBL O dv 2[[2{% 9.
dx
NN du . . N
e Y s, I 285inx « cosx -
dv _ cosx ; — i cos x
I ¢ (—sinx) = —(sin x) e
Sy du  2sinx.cosx  2cosx
" dv —sin x'ecosx ecosx



158

ok
.

10.
11.

12.

13.

14.

15.

16.

17.

18.

19.
20.

yslel ey 5

ug 1 94l 11 1 2uua Qi x (@9 [aslad ana :
(3x% — 9x + 5)° 2. sindx + cos®
(5x)3¢0s 2 4. 0<x <12 sinlxvx)
cos

2 < x <2 HE, ﬁ
2x+7

\/1+sinx +\/1—sinx
\/1+sinx—\/1—sinx

0<x< % e, cor!

(log x)log ¥ x > 1
SIS §AN g, b {2 cos (a cos x + b sin X)

% <x< %E "I (sin x — cos x)(in x = cos x)

S5 FBd >0 24 x> 0 "2 X + x9 + & + ¢

X >3 M2 3 4 (= 3

A ~ dy NN
_ z = _ = — ¢f =
T <1< S Hey 12 (1 — cos 1), x = 10(t — sin 1), dl o AWML,
A A ~ A dy NN
<x< = ¢in—l a1 2
W 0<x<18W,d y=sin'x+sin J]—x> e LML,

~ N ~ ~ N d —
Bl <x<lH2xfl+y +yflrx =0 i, dl wbid 531 3 =2 = —

dx 1+ x)2

5 3
dy 2

1o (2
dx) ]

L1

A 5155 ¢ >0 HIZ2 (x — a)? + (v — )2 = 2 I, dl AlBd 520 5 En

dx2
a A b U AHERA AL Sl ddl A0 9,

S cos y=xcos (a+y) i cos a# 1 &y, dl

2
~ -~ d cos” (a +
b sq 3 =2 = J

dx sin a
~ . ~ . ~ dzy ~ ~
% x=a (cost+tsint) Ay =a(sint—t cost), dl F Hodl.
X

~

SIS

~

B F(x) =[x, dl B 52 5 £"(x) UAS ARAAS x HI2 Rl HAD €9 A d AL

aufRiles il Rgid uzel AlGid s 5, %(x”) =nx" 1 (2ul, n 4l Yo

s €9.)

Yo sin (A + B) = sin A - cosB + cos A sinB ¥ [Asan-dl Gudidl 53 cos il

ARALOL Hi2, Yol Hadl.
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-~

21. 9 68 % Add €l uig eRier o Bigdl o [Asadly Al Gl A @8 well as ?

D Do

AMIRL %Al ASLAL.

fx)  gx)  hx) [ g H
~ = o NN dy
22, Ay=|1 m no| &, dl Albid 8l s —- = l m n
a b c a b c
~\ b -1 ~\ N NN d2 d
23, W -1 <x<1H2y=e4 ¥ gy dlalbd 521 5 (1 —x2) —f N}
dx dx
AU

o ardlas Ad-d [@8a d-l dead wr-l siS (6
et [Q8udL o [Blg 2ol qed ged wA.
ERTRPRETUR

e 6L Add [ARAIAL A, oleols], ORISR VA GIOLSR URL Add 1M, HAld %W f A g
Add (8L €, dl

g2l Add ¢l d He d Bigd [@Qfa- aad
o [A8% AHA UL UR Add €1 dl d Add

~

(FT g () =f(x) £ gkx) Add ©.
(f -8 () =/f(x) - gkx) Addl .

{g) &) = ggg (dl g(x) # 0) Add B

o uads [Asadly [@Q8A Add 9, ud Udlu At el

o Aisaddl Fum 2 qAd (@R [aslad wedl Rus 9. 9 £ = vou, 1 = u(x) i %
dV o . ~ ~
da == ol ¢l €, dl
& v a
dx dt dx

o A sedls wHURLA (Asléd (dMdl doy weaHl uvdlRd) 2uud © ¢

%(sin’]x) = 1 i >
%(cos_lx) = 1_—1x2
d—(tan*]x) = 1+1x2

d—(cot_lx) =— 1+1x2
%(sec’]x) = L -
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U5

[as(&au Guuou

< With the Calculus as a key, Mathematics can be successfully applied
to the explanation of the course of Nature.” — WHITEHEAD <

6.1 uiRdilas

W50 5 Ui sl AdlFd [@8y, BisiaMdly wlalada, o [@ba, adisly @8y 24 agamsly
(AL [@sladl sl secls Jdl ollval, 240 useml, 20Ul Sealaen, Rsud, 0Hlys [[sin
el (Mt [Qenauvuil Guld ied asiidl [asfddel Gualol [da siea s3al. Gelsrel dils [Asfdd
(i) 515 Ad ARML Al 335141 82 458l 520 (i) asl 518 Big 2oL us dal Mo
Aalsell aldan (iii) ([@8a-l 2udu el v (@8 sui Bigail 210 (Raly) Heddt & Yed
yed el 520 d st sl Mwlesi 2l B, 2l [slidl Maids Bleyiidl i sl sl
sl 2Ad Guaell © d alvilel. aoll, (@82 sqL Sduddl 98 © Hadl 42§ d idRudl WHal MW
el [Asl@adl Guatlol sl il 2usl siS Alssd ARAL 2t yedl iEal W wel [@sfadHl
Guatlal 5319,
6.2 AMQHUL AdL 551 €

ds

idR s ML AHU 7+l WUE ddl 35121 82 [As(id o Aol salld B, 2L o U, BUL SIS s
. NN Y D b d ~ .
ABL y UL 2y AL x Al AEL 5812 A AR (A9 y = f(x) Hle, d—i (Al f'(x)) 21 y L x -l

NN by N N\ “\ N dy N\ N NN
AUE ddl 32812+ 82 2 B A (E] (Maal f'(x)) M x = x, 2o yHi x <l w04

X = X0
ddl 33513+1L 83 YA 9,

N

auil, ol 515 6L AA x dul p UL e A 7+il AUE 3SR AdL Sl1U Hed 5, W x = £(0)

dy
~N ~ ~ ~ ~ . d dr ~
dal y = g(f) e g1 - % # 0 8l dl A5 [HuH gL d—)yc = % nadl wsw.

dt
212, yHl x <Al A& Adl 32513+ e+il 2A2Ad] y daUl x olAML £+l AUA Ul 35121 £+l
Guylal s3 slHl asiA.
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lel, UL 52dls GeleWIl U1
Gewsanl 1 ¢ 5 A4l Bladidon ago-l axsaui d-dl Bl wla adl 328120 g2 2kl

Bia : r Blan daqoud assn A = 12 g Hadl s

e, Adael dxsnui d-ll Bloid wla adl $2si-L €2 ‘2—? = %(ﬂ:rz) = 27tr gL HIL.
U, =5 AHl S AR % = 107.

il, aduel astsudi d-ll Bloa ada 107 AH2RAL 82 3812 Ay B,

BeldeL 2 & s uHEn 58 9 AHBRL AL eal Al ©. R ddxdl Rl doud 10 Al ¢l R
dedl Ywsul dadldl e 2Ll
Gia @ R 3 wasddl wrdl dous x, dd ansn Voud ywsa S 8. 2wl Vo= 3 dau

N

S =06x2 &, x 3 udy - (A8 ©.

¢d, L = 9 B sl B,
_dav _d 3 _ d 3 dx .
218l, 9 o =g )=o) (st [Aan uzdl)
dx
= 2 o —
9 3x 7
dx _ 3
it (D)
s 4SS _d oo _d o dx i
ed, == - (6x%) = - (6x%) - (s [Ran yzdl)
-1 {i} (1) weed)
X
_ 36
X
e, 2wt x = 10 Al S, A, % = % - 36 1024

BELSBL 3 ¢ Al AAARML s U2 AbdMl A O v WRlHl dqousiz duol w8,
aqousiz auolsl Blodt 4 a4l l 360 Al 9. e aduusiz auasdl Bl 10 A €iu
QAU U AQAUSR dHall Assn Sedl Bl aBl ® 7

Bsa : r Bldon adasd Astsn A = 2 8. el adadl dxsn A ul uuy £+l Wia
gl 81271 €2

dA _ i 2\ d 2y . dr N

T W =)o (s [Ram yrdl)
_ dr
=27r - n

qul, % = 4 J{|A 2uua 9.
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w2 = 10 AMl ¢y, Al
% — 27(10)(4) = 807 A2

2il, w2 7= 10 Al €, AR aduusiz axoli axsn 80 AHIZAL <l Bl a4l 9.

“\e Y ('lv N A\ I\ Y =\ “\ N A\ b U ha

Ay :oon d—l >0 QI dl A dl ¥ 2URL s<E1A Sl 5, FH x AR B dH p Q' 9 qdAl
d' Y R A\ \ =\ NN A o U WY NN
d—i<0t§ll{dl'ldl%%l‘l'&l&@%&ﬂ%&%‘{xq&{@d‘{y&la 6.

~

Belsml 4 @ s doRRAAL dousS x, 3 AHYAMHeAl €2 42 © dul d-dl weous y, 2 Axl/MlHeA
g2l afl €9, 912 x = 10 AHl 2 y = 6 Al 1, R (a) doiAAl WRMQ 24 (b) doiRAxAL
EoLSNHL Adl 55121 &2 LML
Bid @ dolRudl dos x, AMA £+l WU 842 O A udlousS y, wHA -l WA Al ©.

24191, % = -3 Al 214 % = 2 A¥l/AMe
(a) doirRAxl WRMMQ P = 2(x + y)
dp _ (£+ﬂ)
dt dt dt
=2(-3+2)
= 2 Al/Ml~e
(b) dotdlRud &sAsn A=x -y
= 10(2) + 6(-3) (x =10 A4l 24 y = 6 AM)

=2 Aax12/Al~e
BELSRWL 5 : s Al x UsHAL Gedlerdl sa v (3Rami)
C(x) = 0.005 x> — 0.02 x> + 30 x + 5000 gl2L M0 9. U2 3 sH Bcller AL 2ud
AR AlMid vl Ml dlHid v 2ed Geulgddl 515 Ul d Gaulled visH-l v s ga
wHl Adl 328101 €2,
Bsa @ AlMid vl 212d Gaulgddl 51 Ul 2 Geulldd 2sHedl Avaid wle 56 WAHD Adl

535131 €2,

AlHId Wl (MC - Marginal Cost) = cjl—s = 0.005 (3x%) — 0.02 (2x) + 30

U x = 3 &l AR, MC = 0.015 (32) — 0.04 (3) + 30
=0.135-0.12 + 30
= 30.015
2], Hidle AlHid WA T 30.02 (A~ Heu) 8.
BELSRBL 6 @ s drqrl x sl daHial adl 3Maml gd 2uas R(x) = 3x% + 36x + 5 gL 14l
0. 3L x = 5 Sl AR AlHid 2was dldl AlHid s ved dAbAL sd visHIA AU
$G 2UAsHL Adl FRF1AL €2 W,
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10.

11.

12.

oS

Bsa ¢ AlHid as 2 AABAL 54 wisA At adl gd piasdl 38R+ 82 suld B,

Aqluid 2195 (MR - Marginal Revenue) = % = 6x + 36

UL x = 5 &l AU, MR = 6(5) + 36 = 66

Ul Hidld AMid 2uas T 66 .

AU 6.1

22 (a) 7 = 3 A4l aul (b) r = 4 A3l S AR adadl Astsudl ds-dl Bloul 7 4 aia adl
325121 £ L.

§s uHEdd se 8 AR eedl Al o, R AnAAH]L wR-l doud 12 Al Gl AR dd
ysssol sedl wsudl af ?

s agadl Bl sl 3 AHUR AL el all 8. ol adasll Bl 10 Wl S R
Adadl AAsNHL Adl dHIRiHL £ L

s el AR 3 AHUA AL el Al 9. 0 HHEAHAL Rl dons 10 Al Sl R
d uHEAd wdsn sedl mguel Al ?

ol AAARHL S5 Uz vl U B 2 WRlHL adousiz axoll Aetd 8. dduusiz axaii-l
Blosal 5 Al -l 260 a8 B, o adousiz auasil Bloul 8 Al €, AR 2L dduusk
auolle aotsn sedl i Al © 7

s ada-dl Bl 0.7 A4l AL g2 a9, dl ddu-l uRea-l aqdi-l g2 Sedl ¢al ?

s dodiRUAL dotS x, 5 AMYMMeAL 2 842 © A d-dl udlous 4 aHAHeAl €2 adl
9. 9dl x = 8 Al Ay = 6 Al €, AR (a) doiudAl WRMMR x4 (b) dotiuAL
AASUHL Al $351R-1L €2 ML

s OUUSR §RUML d 58 900 AMBRAL AL €2 af dl Ad Al oAl wd 8. R
gool-l (ol 15 Al €l U Blosiiel asdi-dl ex Ml 9910 dUsR ¥ 8 6.

N

25 oUAUSIR 50Ul Bosdl uldd WA B A d U OUAUSIR ¥ € D, U d-l Brosul
10 Al Sld AU dell ddsuHl [(Blosdld AlUe 2ddl dHiRi-dl 82 dlHl.

s 5 Hlex dioll [uel dlaid 2sdl o, AL Al 90 old u 2 Al AL e
glagall g2 dad waml 2ud 9, w AL 1AL 94 laadl 4 H{lex g2 dlu, AR Elad
ux [Ra2eldl Glaus sedl xeudl a2 © ?

s ueld, a5 6y = 3 + 2 U ol 5 8. ds uddl ¥ [Blgpldl dMeAl p-uHUL dHAL x-ud
sl 8 ol 3¢U 5812 A, o [Glgil ikl

1

ol wrdlewll Bl 5 AR AL s2ell 4l 9, 2 el Bl 1oAdl ¢ i ds

SeMl 4dl AYIAAL 6 Sedl €l 7

. s OoUsIR §o0USL A %(Zx + 1) 69, dl L §ooUAl AASUML x L AUE ddl FREIR-AL

€2 SllHl. 90Ul QLUUSIR ¥ W 9,
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N "\

14. 25 WU gL 12 AR AL el Al vt 2ud 9. 20 dl glrl ol u g ol 9,

adl Gl Exal ddl waHl Blsdl sl % ol e 9. R GRS 4 AHL 1A AU AL

2L 2gel GRSl addldl g2 9Ll

15. %5 dagril x YisHdl G-l sa A (3[ami) Cx) = 0.007 x3 — 0.003 x2 + 15 x + 4000
gL A 9. % 17 isHd Gdlert 2dd Gl R wlHid wd ekl

16. 5 axgel x 2sHel Al Hadl ga suas (3Masl) Rex) = 13x2 + 26 x + 15 gl 14
9. U x = 7 Sld UL AlMid 2ids 2kl
wall 17 dan 18 i [Qa R ot d 2Ad 2udd [Asedinigl dou [sey wie s

17. R Bl 6 Al €l QR ddadtl @xsnml d-dl Blodid ata adl 33824 €2 ..., g1,
(A) 10T (B) 127 (C) 8= (D) 117

18. »i5 dxqrl x sHel dauel qadl g4 2uas (RAH) R(x) = 3x2 + 36x + 5 gl HoL 9,
oI x = 15 €ld AR ddl AlMid 2was T Sl
(A) 116 (B) 96 (C) 90 (D) 126

6.3 d8di dAl a2dl [Aal

NN

2 [Qopal, (@83 af © 5 w2 © wadl ol 56 ugl el odd d sl sAL |2 el
[aslaa-dl Gualo s3lal.
Q%4 f(x) = x% x € R+l 2udu susld 6,130 saled WISl uaduisi 8.

GlarufoigHl sieil Glawmloig Al uell
drsll [(3Hdl v dRsll (5Hdl
N
X fx) = x2 X fx) = x2
] 4 0 0
3 9 : 1 1
-2 4 S 2 4
: (xg 2w
-1 1 L Al 1 1
: Glus)
1 1 r€— ' ' 1 —> 3 9
5 vy LI T T (R 5 > 7
0 0 2 4
A
R A X N N
FH 2UURL Lol ouygel FH UL 3ol euygell
NN wusla 6.1 RN
FuRll bl dRs ¥OY, dH e guell tU%Y dRs ¥OY, AU
puavHl Glaus ueql. Qv Glaud ayal.

Ay 2uud Gl el dredl sudvi-l [z s39l. (2usla 6.1 gil.) 218l S wsiy
9 5, v Y gH ULl ol dsdl HHRll ds Ol Slal dx 2udviHl GlRULSHL (B 1A Avaics
Ad) Add al A O, 2 SRl 4 drdlds Ayl (x > 0) W2, [@QEY a8 © du s¢l as,
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gd, sl Gofigl dofl drs sudvil [ sdgl (pugla 6.1 giL) i Ay 3,
AV U FH UL ol dredl wuell ds wSy dx sudvi-l Gl (A el Avacts d)

Add "eldl wd 9. 2udl, B drdlas Aval (x < 0) w2, [@8d 42 9 du sél as.

e, 2Rl (A8 U1 idAAHL 98 O ™Al sUL didAAHL 42 9 d-l [Qsaupicts vl

2yl

2dlgl

Al 1 : HRL 3 I = (g, b) 3 Ardlas [Q8a £ -1 yza-l Guaw 6.

(i)

(ii)
(iii)
(iv)

% X <x, =2 f(x) <f(x) Vx, x, €I =(a, b),

ey

AY s8dl.

A x, <x, = f(x) <fE); Vo, x, €T =(a, b),
¢ dy sy,

N x, <x,=f(x) =f(x,); Vx, x, € I = (a, b),
Ay sdaqu.

N X, <x, = f(x)>f(x) Vx,x, € 1=(a b),

b b

&9 dd sddld.

2L wsiRAl (@Rl 2ndvilcts 3id We susld 6.2 gl

Y Y

dl f 2 (a, b) YR a4 [d94 &
dl f 2 (a, b) YR Y2d 94g (A9
dl f 4 (a, b) 42 8cq [Ad4 &

dl f ¥ (a, b) U2 Y2d 42q [A9u

A 1r }:’
e o <% ¥ Ay .

v

v "

Y’ Y X

(i) (ii) (iii)
asd (a8 Yad ald (a8 ned (A8
Y Y
N
X". > X X! < /\ /\. X

(iv)
Yad ued [A8u
2u5(d 6.2

v)

1 aud [adu, 1 ued (A8

gl UuBl [Q8% iS5 [Blg 2010 SR Al 9 aql 82 © d-dl euva >uly,

vl 2 : QIRL 5 x, 2 Aedlds [QAU f w0 el 425 ©. AN x, 1 AHAdl 565 Ydud
140 5 %el, f A1 A 4, Yo 2d qb, a 5 yed 2d a2 dl, degar f 2 x, 2uaq 44 &,
b A

yed 2d 44 ©,

R W

g2 ¢ 5 Yed Ad 42 & dH sdauu.
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lAl, UL AL Al aldl [@8d w2 e 532,

A h >0 W f U yeaHl Guaw glu ddl S18 [Agd sdad 1 = (x, — h, x, + h) e
qaad 5 24l Va, x, € 1, x, <x, = f(x,) < f(xy) 44, dl Q9 1 4 x, 2ua0 a4d [A94
& dy s,

Belgam 7 ¢ AlBid 52U 5, f(x) = 7x — 3 2 R U2 A2d aad [Q8y ©.

Bid : WA 3 X, % € Ry f(x) =7x -3 w2,

X, <x, = Tx; <7x,
= Tx, -3 <7x, -3
= fx) <f(xy)

wiel, vl 1 el sél asia 5, [@8a £ 21 R ur 4d Jd all .

A4 ol 3R LSS uRL vidanl add (@B S, dl d R uR dad (A8 9. d o 2 wedl
(A8, yed Ad audl [@A4 5 yad 2Ad aedl (@1 w2 sl asi.

gd, UUSl Afdl i gedl (ARl e wan [Asfad sl 2udlel 2u sAEHL aledl ue
HeysHid R %330 O, UL WSRWL 5 HL dell e sUL O,

WHA 1 : Rl 5 [Q9% f A dgd HdAd [a, b] YR Add 2 [Aga 2dud (a, b) 42 [Asa-lu 6.

(a) Ueds x € (a, b) 42, 9 f'(x) >0 &4, dl f 2 [a, b] U2 Yod q4d [A94 ©.

(b) Ueds x € (a, b) HI2, 9 f'(x) <0 &4, dl f 2 [a, b] H Y2d a@2d [A9u .

EY

(¢) 4ds x € (a, b) 2, % f'(x) =0 &4, dl f 4 [a, b] ¥ xyq [d94 &9,
Aol = WA 5, x, < x, WA ddl x;, x, € [a b] O.
2iell, HesHid uHA (WS S, uHY 8) uRdl, ¢ € (x, x,) ¥dl Ha 5 %l
SO = f(x) =1'(c) (x; — x9)
2wed 3, f(x,) — f(x) >0 (f'(c) > 0 2uu4 ©.)
§Wed 5, f(x,) > f(x))
28, x, <x, = f(x)) <f(xy); Vx,x, € [a b]
2idl, £ [a b] UL A aug [A8d ©.
[saal (b) dal (c) «l alidl d o Ad 2uul s d wAs W2, AU dLE 93d 9.
A4 : (1) 2l ay s s uHY sAld B 3 o S5 [Agd 2dAd (q, b) L UAs x H2
Fi(x) > 0 ¢l dal [A8% £ Agd dud [a, b] HL Add &ld, dl £ 2 Yrd add [Q8a o, 20 % Ad
A 518 [Agd AHdAd (@ b) U UAS x W f1(x) <0 dal [Q8% [a, b] H Add &4, dl £ 21 %d
ged [A8y ©.
(ii) »ldue T Al ol (@83 2d add 5 A d2d €, dl d ddyd [ |l add 5 aed (A8
gl dd odl dd udly A €, d %33l Al
Belg2el 8 ¢ Albid sA 5, f(x) = x5 — 3x% + 4x, x € R 3L R U2 %2 auq [A8y 8,
G54 @ »dl, Rl uds iduiad,
flx)=3x2—6x+4 =3x2-2x+1)+1
=3x-12+1>0

N

2uel, (8% £ 20 R ur 2 3d a8 o,
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Bews2eL 9 = ABd 5 5 f(x) = cosx ¥
(a) (0, ) Wi Yrd "eq [aBy .
(b) (m, 27) Wi Y aud [aBy .
(c) (0,2m) i aag [@8% um Al 5 sed [A8d ua <l
B34 @ Ml f'(x) = —sin x
(a) s x € (0, ®) M2, sinx >0
f'x) <0
2], £ 2 (0, T) ML A veq [A8U ©.
(b) was x € (m, 2m) ‘-LLé, sin x <0
f'x) >0
2il, £ 3 (m, 27) M A aud [@Q8d .

(c) [sedl (a) dat (b) uzell 2ure & &, £ 3 (0, 21) |l add [A8% A4l & aed [A8d wa <l

@ Al | [ £ AABIEL 0, T A 27T 201 Udd B, ], WY 1w, £ 3 [, 27l

afd (A8 & 2 [0, T]HL ved (@Bu ©.

Y N\ N

Gelgaw 10 ¢ (8% £(x) = x> — 4x + 6 15Ul vidAdHl (a) Yad DAd a8 (b) A Ad ve O
20l .
Bse : 2wl f(x) =x2 —4x + 6

fix)=2x — 4
wiEl, ') = 0 Adl, x = 2 uo. el x = 2 2 dRd@s AvarRviA o [G 2idRudl

(~00, 2) 2 (2, ) i [Aeulsd s2. (2usld 6.3 %il) idud (—o0, 2) 4, f'(x) = 2x — 4 < 0.

2ell, 2 duaul (@84 F 2 Ad ve 9. aoll, 2dyAd (2, ) Hi, £1(x) > 0 el @Ry f

I
T r

—0 2 +00

2u5ld 6.3

2 Ad Al .

-~

o Al | QAU f Al x =2 20 Add B, x =2 3 6 dAAA A3 9. el wHA 1 Rl

~

28l el wslal 3, 2uUE (A8 £ ol (—oo, 2] Hi 42 © ¢4 [2, 00)Hi A8 9.

N\ I

Gelgel 11 @ % Hdudldl @A f(x) = 403 — 6x2 — 72x + 30 (a) %t Ad a8 (b) Yrd 2d @2
9, d idAAL 9L
Bia @ wdl f(x) = 4x3 — 6x2 — 72x + 30 ¢ | : >
fl(x) =12x2 = 12x - 72
= 12(x% — x — 6)
= 12(x — 3)(x + 2)

219, £'(x) = 0 Adl, x = -2, 3 H4L.

2u5(d 6.4
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x =2 o4 x = 3 dArdlas Avadvid A8 [t vidiel, (-oo, —2), (-2, 3) dul (3, ) ui
[Aoulrd 53 ©. sdAAL (00, —2) 24 (3, 00) Hi, f'(x) > 0 9, wU2 vidAd (=2, 3) 4l f'(x) <0
8. 2Uel, £ 2 vidudl (-o0, -2) el (3, 00) HL Y adq [@Q8U B, %R, vidd (=2, 3) Ui f Y

ged (A8 €. dx edl usl, £ 3 R¥ aag 5 ed ([Q8d .

AdAA | f'(x) Al [Reu-l [Q8u £ - usR
(00, -2) =)= >0 £ Ard Ad Al 8.
(-2, 3) (-)+) <0 f A Ad w2 o,
(3, ) (+H)(#) >0 £ A Ad a9

-~

Bel8RWL 12 : % dAAML [ABU f(x) = sin 3x, x € [O, %] (a) a8 (b) @2 d idUcl AL
Bia = Al f(x) = sin 3x
f'(x) = 3 cos 3x
218l, f'(x) = 0 ddli, cos 3x = 0 M.

S8 [_“"’:IO’%]:‘”M‘:IO%MI’

- T 3T
»u9l, 3x . 3

2, x = % i % Ha.

¢d, x = £ 3 sldua [O,%] A4 6 [t vidudl %l 2 [% %]%'L Coulsd 3.
i’ L &l

¢, Vx e (0.

z z I i
0<x<6:>0<3x<2 0 .4 o
6 2

= cos 3x > 0 @ed 5 f(x) > 0 sl 6.5

r

-
daul Vx e [6, 2),

g4 Fid o 3n
6<x<2:>2<3x<2

N

= cos 3x < 0 2ed 5 f'(x) <0

i
e, £ A [O, Tl 22 aud @AY 9 2t [’g ’;DHL w2 ved (A8 .
\ !
auil, »iud [Q8Y x = 0 A x = % M0 Add Sleudl, und 1 ul, £ 3 |- %] EERCLT

dal [% %] U Hed [a8u .
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oS

Belgawl 13 @ [A8Y f(x) = sin x + cos x, 0 < x < 270 s dAAHL > A8 8 2 s il

Y 84S 89 d -issl s

Bsa : 26l f(x) = sin x + cos x

=
Fa

ST

St 2n
) 4
f'(x) = cos x — sin x 250 6.6
¢d, £'(x) = 0 ddl, sin x = cos x M.
T Sr

= 4L 22 <x<
X= 5 (0£x<2m)
x = ud x = ST“ A vidad [0, 21] A AR [t idRidl [0, %] [% %‘] ]

i ) i

(%’r, 2::] i [Qeulxd s2.

W N =

Y

A x € [O, %} U [%’ 21:] g, dl f'(x) > 0

b

7 idatdl [O, %)

r

2 (%" 2::] ui 2 aug [Q8u 6.

aol, % x € (% %) dl £'(x) < 0
NN N N . KJ'.[: 5;!1:] . . oD N
2ed %, f ¥ didd [Z’ 2 Ml A sed @Ay O
X i
v |f'(x) D Radl | [@QBA £ AL spas
L4 ° A N
[O, Z} >0 A aud [a8y .
(%, %’) <0 f A ued @A 8.
f%ﬂ, 2::] >0 £ A aud [y 9,
AU 6.2

A A 5 f(x) = 3x + 17 21 R U2 % add [Qhy ©.
A 5A 5 F(x) = e, R U A auq (@b 9.

Al s 5 f(x) = sin x

(a) (O, %} Ui Yt quq @AY B,

(b) (% :r) Wi 22 ved (A8 B

(c) (0, ) %i aad & aed

@82 f£(x) = 2x2 — 3x sul
(a) 2t Ad a8 (b) A

@82 f(x) = 2x3 — 3x2 — 36x + 7 5Ul dAAHI
(a) 22 FAd a8 (b) A Ad ©e d 55l 53U

[Q8u .

ldAAHL
Ad 82 d AL
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7.

8.

9.

10.
11.

12.

13.

14.

16.

17.

18.

19.

Y “\

{ladl (A8l sl vidRiadl grd Ad 4l O adl grd Ad 82 © d sl A -
(a) x2+2x-5 (b) 10 — 6x — 2x2 (c) —2x3 —9x2 — 12x + 1
(d) 6 — 9x — x2 (e) (x + 13 (x - 3)°

2Xx
2+Xx°

A 53 5 x wrd (8% y = log (1 + x) — x> -1 ¥ ddl wed Uk adg [Q8u 9.

~

y=xx—2)? 3 x+l ¥ Exdl e aud [@Q8a €l d Budl el
B 4 sin 0
Y= Q2vcos0) ~

A 52 5 agasly (AU vidua (0, ) u 2 add [A8y ©.

~

Al 53 3 02 0c¢ [0, %] ui qug (@AY B,

A $2A 5 f(x) = x2 —x + 1, vidud (=1, 1) U A d4d & ged (A8 .

well 12 dal 13 | (A 0 o d 2d sula [@sediiedl doa [@sa wis s

<12 Al [@Ramidl sy [y vidud (O, %} U A Hed (b € 7

(A) cos x (B) cos 2x (C) cos 3x (D) tan x

(Q8A f(x) = x100 + sin x — 1 31 {13 2ulel vidudl U5l sul sduadl 2d Ad 82 8 ?
(A) (0. 1) 8) (3.7) © (0.3 (D) »uile 5L s uel AR,
‘@ Al Al Ul 59 Bad e [@Ra f(x) = 22 + ax + 1 3 vidud [1, 2] wr % 2ld

af & ?

(297

o 1 515 [Ag HdAd €l A TN [-1, 1] = ¢ Sy, dl Abid s 5 f(x) = x + i w1 U
Y aud [aBa ©.

LY 4
Al 52U 3 (@8 f(x) = log sin x ¥ [O,ED U Zad adgd (A8 9 qal f% T U Yadt Hed
\ ! /

QA . '

Al sA 3 @A f(x) = log | cos x| 2 [Q%J W Y ded @AY B au [%,Z:rrj U

Y aud [aBa ©.

A 53 5 f(x) = x3 = 3x2 + 3x — 100 »1 R u2 qaqg (a8 €.

wgl 19 i [ A ol d Ad 2idd [@Asedmial doy [Asew ude s :
{12 2uhal idrdl WSl sul vidanl y = x2 e aud [Q8u & 7

(A) (o0, ) (B) (-2, 0) (C) (2, ) (D) (0,2)

6.4 s A 20

L [Aeuomi, Ul S8 asd S8 Blg 2010 uels dal wlmdenl widlsa Al w2

[Asan-l [Ba-l Guaa sel

(xp o) Digniell uaR adl »14 Flad el m awll ud wdls@ (v - y,) = mlx - x,)

glaL M4,
e NN N . c ~ dy , c
Al 5y = f(x0) A (xg, pp) [Blg 2ua0-L mASHL gL o (= f'(xy))dl el
- (x95 yo)

well, y = f£(x) W (xp y,) Blg 22004l usis w1520 (v — y,) = () (x — x,) gl 44,
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qall, lmeol 3 ugisd dot 9. wEl, A fl(x,) # 0 A 2L
R R . N Mo
S, dl 45 y = f(x) U (x4 ) [Blg 20l Ao sl
-1 A : A A
; Hoi, el das oy = £Fx) - (x,, (Blg, 010041 ]
1 (x) y =@ () Bl A s
wlddord s (v — y,) = L (- X,) &L HAL.
f (xo)
A2d 5, (v —y) f1x) + (x = xp) =0
Al c| o a5 y = f(x) -l s X-wtaedl 4 [Ba wE 0 sl 6.7

~ ~ N ~ d ~
WIUHL veIL oield, dl d—)yc = usisl e = tan 0.

[alre (302 :

(i) oA sl 2l Y S, dl fan © = 0. 20l O = 0. Al 2 2 Ul 5, wAs X-van
AHIAR O dl X-2ta A8 Auldl 8. 2 BRusl, (xg, y,) Big 2ua0 usis wsdlsw
Y=Y wal,

i) = 0 > Z G, dl fan© — oo, ded 3, Wals vl X-viad deidvil 9; widl e
2l 5 d Y-2Aa AHdR 9 Al Y-ua AE Audl 9. a0 Brunl, (v, y,) Big
SAAAL ussd ulsw x = x, L. (w2 ?)

BEISRWL 14 : x = 2 O ds p = x3 — x «ll WISl 4l ROl
et x = 2 o it = (2] ey
Pxo= 2 e wled e = (G = (3x2 — 1), _, = 11 4L

.“_x =

. _ ~ 2 [ Ce ~ ~
Gelenl 15 1 as y= f4x-3 — 1 4 5 acon wdsd @il dadl,

1

~ ~ . ~ d —_—
Gia : 2ld asd (x, ) Big »wooe sl s 2 = Ly 3y2 .4 = 2
N dx 2 4x -3
wild e £ 8.
2 _ 2
3 Jax-3

YL 4x — 3 =9
VYL x = 3
6d, y= f4x-3 — 1%, x=3 Adi, y= J43)-3 -1 =2

-~

»el, widle msilby (3, 2) B,

Belsw 16 : as y + ﬁ =0 A 2 el dxd sl wdlseL 2k,
Y N . oo dy _ 2
G5 :asd (v, y) Big 20001 WAsHAL 3l — = ——
S dx (x-3)
. N N 2
Ud 2NE a0 2 el 2 = 3
= (x-3)

wYdl (x — 3)2 =1
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wYdl x — 3 =+ 1
WYl x = 2, 4
gd, x =2 Adl, y = 2 ddl x = 4 ddi, y = —2 ¥4,
wl, ld asa (2, 2) dal (4, —2) wabigao, 2 aladio, 6 S HA,
(2, 2) Big w001 s A5
(v —2)=2(x-2)
y—2x+2=0 "
dul (4, —2) [ig w001 2usls Aalsal
y=(2)=2(x-4)

y—2x+ 10 = 0 4.
2

2 cN . ~ ~
Gersanl 17 @ as L+ o = 1 uadi % Bigail 2uo00 2449
i _ N . N ii _ N\ N N N N Y \ '\.
(1) X-2t8 AR Sl (i) Y-8 AHdR Sl d [Bigail ikl
2 2 .- - .
Gha : L+ z—s = 1« xd wle Rsad sadi,
2 25 dx
dy 25 X
UYL — = == =
dx 4y
() ed, % wls X-2aa AHidR S, dl d-dl alor 0 2.
-25 X ) ~ A bt N N
24191, i 0. % x = 0 ¢l dl 2 dl % 2L ASY ol

N A

2 2 . N e N ~\
suell, £+ 2 =1 i x = 0 Adi, 2 =25 B2d 3, y = £5 L.
e, Bigpil (0, 5) 2 (0, —5) H2ANAL A5 X-Had UHIdR B,

. bY . ~ ~ ~ N . ~ 4 NN N
(i) o5l wAMeotrl alor 9eu iU, dl U5 Y-21a AHidR €. v, % =0 2ed 5y =0.
2 y2 . ~ . ~
el XT+E =14l y =0 ddi, x = £2 4.
e, Bigpil (2, 0) A (=2, 0) 0L M5 Y-284 AHIdR O,

xX—17 ~ NN N AN N . . NN
BEISRLL 18 1 ds p = ————— 3 X-2&8 ¥ [Bigal 92 a Big U010l 249ls 11501 9Lkl
YT (x-2)(x-3) ¢ ¢ <

Bid : X218 Uz y = 0 €laigl, as-l aMlsemi y = 0 ddi, x = 7 0. 2udl, a5 X-2taq
(7, 0) Bigal Ot &, ¢d, ud asd w4 x U [Asaq sdi,

dy 1—y(2x—5) N N N
il sy (<l Ad ?)

dy

ay 1-0 1
waal | o

)(7,0) T O® T

»ul, (7, 0) Big w00 wslsdl e 55 8.
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